
Exempel

Bestäm z ′′yy uttryckta i derivator med avseende på u och v då{
u = x + 3y ,
v = 2x − y .

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y

= 3
∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2

=
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)

= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)

= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)

=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/

= 3
(

3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

Flervariabelanalys



Lösning

u = x + 3y , v = 2x − y .

(∗) ∂w

∂y
=

∂w

∂u

∂u

∂y
+

∂w

∂v

∂v

∂y
= 3

∂w

∂u
− ∂w

∂v
.

∂2z

∂y2 =
∂

∂y

(
∂z

∂y

)
= /w = z i (∗)/

=
∂

∂y

(
3
∂z

∂u
− ∂z

∂v

)
= /linjäritet (produktregeln)/

= 3
∂

∂y

(
∂z

∂u

)
− ∂

∂y

(
∂z

∂v

)
=

/
w =

∂z

∂u
respektive w =

∂z

∂v
i (∗)

/
= 3

(
3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))
Flervariabelanalys



Lösning

z ′′yy =
∂2z

∂y2 =

= 3
(

3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))

= 9
∂2z

∂u2 − 3
∂2z

∂v∂u
− 3

∂2z

∂u∂v
+

∂2z

∂v2

= 9
∂2z

∂u2 − 6
∂2z

∂u∂v
+

∂2z

∂v2 .

Flervariabelanalys



Lösning

z ′′yy =
∂2z

∂y2 =

= 3
(

3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))
= 9

∂2z

∂u2 − 3
∂2z

∂v∂u
− 3

∂2z

∂u∂v
+

∂2z

∂v2

= 9
∂2z

∂u2 − 6
∂2z

∂u∂v
+

∂2z

∂v2 .

Flervariabelanalys



Lösning

z ′′yy =
∂2z

∂y2 =

= 3
(

3
∂

∂u

(
∂z

∂u

)
− ∂

∂v

(
∂z

∂u

))
−
(

3
∂

∂u

(
∂z

∂v

)
− ∂

∂v

(
∂z

∂v

))
= 9

∂2z

∂u2 − 3
∂2z

∂v∂u
− 3

∂2z

∂u∂v
+

∂2z

∂v2

= 9
∂2z

∂u2 − 6
∂2z

∂u∂v
+

∂2z

∂v2 .

Flervariabelanalys


